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SANSKRIT

(Second Language)

Maximum Marks : 80

Time Allowed : Three Hours

Answers to this Paper must be written on the paper provided separately.

You will not be allowed to write during the first 15 minutes.

This time is to be spent in reading the question  paper.

The time given at the head of this Paper is the time allowed for writing the answers.

This paper comparises of two Sections : Section A and Section B .

Attempt all the questions from Section A .

Attempt four questions from Section B, answering at le ast one question each from the

two books you have studied and any two other questions from the same books you have 

compulsorily chosen .

The intended marks for questions or parts of questions are given in brackets [ ]. 

SECTION—A (40 Marks)

Attempt all questions from this section.

Question 1

Write a short composition in Sanskrit of 150-200 words on any one  of the 

following topics :— [15]

v/kksfyf[krs"kq fo"k;s"kq ,da fo"k;e~ vk/k‘R; 150–200 ’kCnifjfera y?kqfucU/ka laLd‘rHkk"k;k  

fy[kr :— 

 (i) fo’os fofo/ kk% ?kVuk% lEHkofUrA lewge/;ek% rs"kka fo"k;s Kkua ;PNfUrA vr% lewgek/;eL; 

ifjp;kReda y?kqfucU/ka fy[krA 

 (ii) izR;sdL; thous lTtulgokl% egksUufrnk;d% bfr dFkf;Rok lTtulgoklegÙofo"k;s 

fy[krA 

 (iii) foKkuL; izxfrr% vLekda thoua lqfo/ka tkre~A ,rf}"k;s fucU/ka fy[krA 

 (iv)  ßLoLFks ’kjhjs LoLFka eu%Þ bfr opueuqxq.ka nSfgdekufldkjksX;j{k.kL; mik;fo"k;s fy[krA 



T24 191 2

 (v) (Picture composition) izLrqra fp=e~ vk/k‘R; laLd‘rHkk"k;k y?kq fucU/kesda fy[kr %µ 

   

Question 2

Write a letter in Sanskrit in approximately 120 words on any one  of the following 

topic :— [7]

v/kksfyf[kr;ks% fo"k;;ks% ,da fo"k;e~ vk/k‘R; laLd‘rHkk"k;k i=a fy[kr :—

(i) HkoRizns’kL; LoPNrka jf{krqa izkFkZf;Rok uxjikfydk;k% v/;{kegksn;a izfr i=a fy[krA 
 (ii) fo|ky;s vkpfjrL; ØhMkfnuL; o.kZua ÑRok fe=a izfr i=a fy[krA 

Question 3 

Read the passage given below and answer in Sanskrit the questions that follow, 

using your own words as far as possible :—

v/kksfyf[kre~ vuqPNsna ifBRok rL;k/kksfyf[krkuka iz’ukuke~ mÙkjkf.k ;FkklaHkoa Lo’kCns"kq 

laLd‘rHkk"k;k fy[kr %— 

  df’pr~ jktkA rL; ,s’o;Ze~ vikje~A vusdfo/kkfu jRukfu] ekSfDÙkdkfu] otzoSMw;kZnhfu p rsu 

lºx‘ghrkfu vklu~A ,rkn‘’kh vikjk lEifÙk% txfr vU;L; dL;kfi lfo/ks ukfLr bfr fpUrue~ vklhr~ 

rL;A vr% vfrfFkH;% rka lEifÙka lkfHkekua n’kZ;fr Le l%A vikjewY;orh lk lEifÙk% Hkwes% vUr% fufeZrs 
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fof’k"Vs j{kkx‘gs LFkkI;rs LeA rL; x‘gL; j{k.kk; ,da lSU;nyeso fu;qDÙke~ vklhr~ jktkA dnkfpr~ 

d’pu laU;klh jktizklkne~ vkxroku~A jktk ra ;Fkksfpra lRd‘R; izl³~xo’kkr~ LoL; lEiÙks% fo"k;efi 

vonr~A rnk laU;klh vonr~ & ^^vewY;k lEifÙk% vfLr fda ro \ rke~ vga æ"Vqe~ bPNkfe** bfrA  

  jktk laU;kflua lEifÙkx‘ga izfr vu;r~A lEiÙks% izn’kZuk; l% ,da nhia x‘ghroku~ vklhr~A nhiizdk’ks 

jRuekSfDÙkdknhfu fo’ks"kr% izdk’kUrs LeA jktk lokZf.k vfi ,dSd’k% vn’kZ;r~A laU;klh dqrwgysu loZe~ 

vi’;r~A jktk rq ,dSdefi dnk dq= % izkIre~ bfr] rL; oSf’k"V~;a fde~ bfr p foLrjs.k o.kZ;u~ vklhr~A 

rkork laU;klh gBkr~ jktk% gLrs fLFkra nhia QwRÑR; fuokZfiroku~A rLekr~ r= loZ= vU/kdkj% izlqr%A 

laU;klh jktkue~ vi‘PNr~ & ^^bnkuha fdeFkZa Hkor% jRuekSfDÙkdknhfu u izdk’kUrs \ bfrA 

  ^^nhi% fufoZ..k%A vr% rkfu u n‘’;UrsA ee HkVk% bnkuhe~ vU;a nhie~ vku;fUrA rnk ,rkfu 

izdk’kf;";Urs** bfr vonr~ jktkA ^^jktu~ ! nhiizdk’kL; vHkkos rq jRuekSfDÙkdknhuka egkewY;rk vfi 

vfdfŒpRdjhA ;Fkk nhi% loZizdk’kd% rFkk Hkofr vkRefodkl% xq.kksRd"kZ% pA rL; lEiknuk; o/kZuk; p 

iz;kl% dj.kh;%A xq.kksRd"kZL; vHkkos u dkfi lEifÙk% midkjk; HkofrA lEifÙk% vfLFkjkA v| ;k vfLr 

lk vxzs dnkfpr~ fou"Vk Hkosr~A fdUrq xq.kksRd"kZ% rq ’kk’or%A loksZidkjda re~ vtZf;rqa fodklf;rqa p 

fo’ks"kiz;kl% Hkorq** bfr vonr~ laU;klhA 

 (i) dnkfpr~ jktizklkna d% vkxroku~ \ l% u‘ia izfr fde~ vonr~ \ [2] 

 (ii) u‘is.k dkfu l³~x‘ghrkfu \ rL; fpUrua fde~ bfr  vklhr~ \ [2] 

 (iii) xq.kksRd"kZL; vkHkkosu d% ifj.kke% Hkofr bfr laU;klh u‘ia izfr vonr~ \  [2] 

 (iv)  laU;klh nhia fuokZI; u‘ia izfr fde~ vi‘PNr~ \ rnk jktk fdeonr~ \ [2]

(v) u‘i% lEifÙka d q= LFkkfiroku~ \ rL; j{k.ka dFke~ vdjksr~ \  [2] 

Question 4

Answer the following questions according to the instructions given :— [8]

v/kksfyf[krku~ iz’uku~ ;FkkfunsZ’ke~ mÙkj;r %—

(i) v= ,rr~ ’kq)a okD;e~ HkofrA  

  (a) fo|ky;L; cfg% Nk=k% ØhMfUr 

  (b) fo|ky;a cfg% Nk=k% ØhMfUr  

  (c) fo|ky;kr~ cfg% Nk=k% ØhMfUr 

  (d) fo|ky;s cfg% Nk=k% ØhMfUrA 
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(ii) ßekrkfirjkSÞ bR;L; foxzgokD;e~ ,oa HkofrA  

  (a) ekrk p firk p  

  (b) ekrk p firjkS p 

  (c) ekr% p fir% p 

  (d) ekrq% firk 

(iii) ßfu"kkn"kZHkÞ v= lU/ks% foHkkx% ,oa HkofrA  

  (a) fu"kkr~ $ v"kZHk 

  (b) fu"kkn $ v"kZHk 

  (c) fu"kknj~ $ "kHk 

  (d) fu"kn $ _"kHk 

(iv) ßRo;k v= m";rsÞ vL; okP;ifjorZuesoa HkofrA  

  (a) Roe~ v= olfr 

  (b) Roe~ v= olfl 

  (c) Roe~ v= m C;fl 

  (d) Ro;k v= olfr 

(v) ßV B M <+Þ ,rkn‘’kk% o.kkZ% HkofUrA  

  (a) d.Bîo.kkZ% 

  (b) rkyO;o.kkZ% 

  (c) ew/kZU;o.kkZ% 

  (d) nUR;o.kkZ% 

(vi) ßlkfRod% lkUohaa iz’ua i‘PNfrÞ vL; y‘Vydkjs.k ifjorZue~ ,oa HkofrA  

  (a) lkfRod% lkUoha iz’ue~ vi‘PNr~ 

  (b) lkfRod% lkUoha iz’ua iz{;fr 

  (c) lkfRod% lkUoha iz’ua i‘fPN";fr 

  (d) lkfRod% lkUoha izf{k";fr 
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(vii) ßizHkforqe~Þ bR;L; izÑfrizR;;foHktue~ ,oa HkofrA  

  (a) iz $ Hk w $ rqequ~ 

  (b) izHko $ rqequ~ 

  (c) iz $ Hko $ rqequ~ 

  (d) iz $ Hkfo $ rqequ~ 

(viii) ßrnh;e~Þ bfr inL; foHktue~ ,oa HkofrA 

  (a) rk% bne~ 

  (b) rLeS bne~ 

  (c) rsu bne~ 

  (d) rL; bne~ 

 

SECTION—B (40 Marks)

Questions from only two of the following textbooks are to be answered.

Attempt four questions from this section.

You must answer at least one question from the two books

you have studied and any two other questions.

laLd‘rok.kh Hkkx—4

olq/kSo dqVqEcde~ 
Question 5

Read the following extract given below and answer in Sanskrit the ques tions that follow : —

v/kksfyf[kra vorj.ka ifBRok rL;k/kksfyf[krkuka iz’ukuke~ mÙkjkf.k laLÑrHkk"k;k fy[kr %—

 lTtukuka thoua ijfgrk; HkofrA fo’kkyân;k% ,rs egkiq#"kk% ldyfo’oa LodqVqEca 

eU;ekuk% uhfrekxZa dnkfi u R;tfUrA rs vkrZtukuka lsok;ka lnk fujrk% HkofUrA vidkjs d‘rs 

vfi lk/kqO;ogkje~ vkpjfUrA 

(i) lTtukuka thoua fdeFk± Hkofr \ rs dFka O;ogkjekpjfUr \ [2] 

(ii) losZ"kq /kkfeZdxzUFks"kq fda dfFkre~ \ mnkjpfjrkuka x.kuk dFka Hkofr \ [2] 

(iii) ekuo% dFka xkSjoa lq[ka izkIuksfr \ dnk vLekda thoua lkFkZda Hkofr \ [3] 

(iv) izd‘rs% iŒpHkwrkfu fdeFk± lfUr \ rL;k% mnkjrk dFka ’yksds of.kZrk \ [3]



T24 191 6

ve‘r/kkjk 

Question 6

Read the following extract given below and answer in Sanskrit the questions that follow : —

v/kksfyf[kra vorj.ka ifBRok rL;k/kksfyf[krkuka iz’ukuke~ mÙkjkf.k laLÑrHkk"k;k fy[kr %—

 laLd‘rlkfgR;s lqHkkf"krkuka oSf’k"Vîiw.kZa LFkkua fo|rsA jkek;.k&egkHkkjr&iqjk.k&dkO;kfn"kq 

vU;s"kq xzUFks"kq p ;= r= lqHkkf"krkfu dfofHk% fofuosf’krkfuA bZn‘’k lqHkkf"kr kuka i‘Fkd ~ l³~xzg% vfi 

rS% d‘r% fo}fn~Hk%A lqHkkf"kr kuka l³~xzg% d.BikB’p vo’;a drZO;%A vusu cgwfu iz;kstukfu 

fl)kfu HkofUr bfr vuqHkoxE;% v;a fopkj%A  

(i) dL; lqâr~ n’kZue~ vkS"k/ke~ \ [2] 

(ii) d% ’khyxq.kku~  u R;tfr \ mnkgj.klfgra foo‘.kqrA [2] 

(iii) lRl³~xfr% iqalka fda djksfr \ [3] 

(iv) ujL; Js"Ba Hkw"k.ka fde~ \ dkfu iq#"ka u Hkw"k;fUr \ [3]  

 

egkdfo % dkfynkl%

Question 7

Read the following extract given below and answer in Sanskrit the questions that follow : —

v/kksfyf[kra vorj.ka ifBRok rL;k/kksfyf[krkuka iz’ukuke~ mÙkjkf.k laLÑrHkk"k;k fy[kr %—

 ßlaLÑrdfo"kq vxzx.;%Þ dkfynkl% ^dfodqyxq#%] dforkdkfeU;k% foykl* bfr izfl)% 

vklhr~A vk³~ylkfgR;s ’ksDlfi;j~ izfl)% rFkk dkfynkl% Hkkjrh;lkfgR;{ks=s vuqie µ dfo%] 

loZJs"B µ dfo% bfr xkSjoa izkIroku~A 

(i) dkfynklL; Ñr;% dk% \ [2] 

(ii) vukfedk fdeFk± lkFkZorh cHkwo \ [2] 

(iii) dkfynklL; yksdfiz;rk;k% dkj.ka fde~ \ [3] 

(iv) foØekfnR;L; vkLFkkuL; uo ekSfDrdkuka ukekfu fy[krA [3]
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laLd‘rok.kh Hkkx—5

prqj% jked‘".k% 

Question 8

Read the following extract given below and answer in Sanskrit the questions that follow : —

v/kksfyf[kra vorj.ka ifBRok rL;k/kksfyf[krkuka iz’ukuke~ mÙkjkf.k laLÑrHkk"k;k fy[kr %—

  jked‘".k% O;kf/kxzLrkuka tukuka fpfdRlka djksfr LeA ,rnFkZe~ vkS"k/kL; vUos"k.kkFkZa l% oua 

xPNfr LeA ,dnk l% vkS"k/kh;&oLrwfu vkusrqa oua xr%A rfLeu~ ous ujHk{kdk% vfi volu~A rs 

oukxrku~ tuku~ x‘ghRok [kknfUr LeAvr% tuk% r}uizos’kL; fopkjkr~ ,o Hkhrk% HkofUr LeA

(i) d‘".knsojk;% d% \ rL; lHkk dhn‘’kh vklhr~ \ [2] 

(ii) d% fodVdfo% bfr izfl)% \ dFka l% ikfjrksf"kdku~ yHkrs Le \ [2] 

(iii) uk;d% fdeFkZa jked‘".kk; x‘ga xUrqe~ vuqefra nÙkoku~ \ [3] 

(iv) Hk;gsrqd% uk;d% mPpLojs.k jked‘".ka fda izR;onr~ \ [3]

ijksidkjkFkZfena ’kjhje~ 

Question 9

Read the following extract given below and answer in Sanskrit the questions that follow : —

v/kksfyf[kra vorj.ka ifBRok rL;k/kksfyf[krkuka iz’ukuke~ mÙkjkf.k laLÑrHkk"k;k fy[kr %—

  ;kekuUrja yqC/kd% tkx‘r%A o‘d% lqIr%A vL; voljL; lnqi;ksxa drqZe~ bPNu~ ’kknwZy% ,oe~ 

mDÙkoku~ & ^gs ew[kZ ! eÙk% Hkhr% Hkoku~ r= fLFkr%A o‘d% ro thoj{kd% bfr Hkor% fo’okl% 

vfLrA ijUrq lR;a rq vU;r~ vfLrA ee gLrkr~ foeksP; l ,o Roka Hk{kf;rqa okŒNfrA l% ro 

Hk{kd% u j{kd%* bfrA

(i) O;k/k% /kuktZukFkZa fda djksfr Le \ l% fdeFkZa cgqf[kUu% vHkor~ \ [2] 

(ii) ijksidkjks uke d% \ ijksidkfj.k% vU;s"kka Ñrs fda dqoZfUr \ [2] 

(iii) ifjJkUr a yqC/kda n‘"V~ok o‘d% fde~ vonr~ \ [3] 

(iv) o‘d% lko/kkufpÙksu fde~ vonr~ \ [3]
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izkFkZuk

Question 10

Read the following extract given below and answer in Sanskrit the questions that follow : —

v/kksfyf[kra vorj.ka ifBRok rL;k/kksfyf[krkuka iz’ukuke~ mÙkjkf.k laLÑrHkk"k;k fy[kr %—

 vŒtukuUnua ohja tkudh ’kksduk’kue~A 

 dih’ke{kgUrkja oUns y³~dkHk;³~dje~ \AA 

 vuUruke/ks;k; lokZdkjfo/kkf;usA 

 leLreU=okP;k;] fo’oSdir;s ue%AA

(i) oØrq.M% dhn‘’k% vfLr \ l% fda djksfr \  [2] 

(ii) ekuo% dFka lq[kh Hkofr \ [2] 

(iii) d% loZHkwrs"kq fuxw<% vfLr \ l% dhn‘’k% Hkofr \ [3]

(iv) bna txr~ dsu O;kIre~ \ dFka HkqŒthFkk% p \ [3]


